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SECTION A [40 MARKS]
WRITE THE UNIQUE NUMBER ON THE MARK READING SHEET PROVIDED.
Use the information provided below to answer Question 1 to 3.

Phala Manufacturers has an opportunity to replace a grinding machine that is five years old
with a new one costing R10, 000 The new machine requires an installation cost of R2, 000
and a transport cost of R3, 000. The old machine was purchased for R8, 000, had an
expected life of 10 years and was depreciated on a straight ine method The old machine can
be sold today at R5, 000

The new machine has a ten year life span and will be depreciated on a straight line method
Using the new machine will increase the net working capital by R2, 000.
The company is subject to 40% tax rate.

1. Calculate the tax implication from the sale of the old machine and choose the correct option.

. -R1, 400 tax benefit

. -R560 tax benefit

. R400 tax liability
R560 tax habihty

oW N =

2. Calculate the installed cost of the new machine and choose the correct option.

1.R 7,400
2. R10, 000
3. R12, 000
4. R15, 000

3. Calculate the initial investment associated with the replacement of the existing machine and
choose the correct option.

1. R12, 000
2. R12, 400
3. R12, 560
4 R12, 800

[TURNOVER]
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Use the information provided below to answer question 4to 7.

Baradi Mining is evaluating two exploration projects (Gold and Platinum projects). The cost of
capital for each project 1s 8%. The expected cash flows of the two projects are given below.

Year - -+ Gold-project - Platinum project
R R
0 (50,000) (20,000)
1 (20,000) (60,000)
2 (20,000) (35,000)
3 (20,000} (40,000)
4 8,000 (10,000)

4. Calculate the NPV of the Gold project and choose the correct option.

1. -R95, 662
2. -R62, 401
3. R62, 401
4. R95, 662

5. Calculate the NPV of the Platinum project and choose the correct option

1 -R144, 666
2. -R104, 666
3. R104, 666
4. R144, 666

6. Which project(s) would be regarded as acceptable if they were independent?
1. Both the projects should be accepted
2 Neither project should be accepted

3 Only the Platinum project should be accepted
4. Only the Gold project should be accepted

[TURNOVER]
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7. According to the NPV ranking approach, which project(s) should be accepted if they were
mutually exclusive?

1 Both projects should be accepted

2. Neither project should be accepted

3. Only the Platinum project should be accepted
4. Only the Gold project should be accepted

8. City Removals Ltd I1s evaluating the purchase of a new trailer costing R9, 000 for expansion
purposes. The trailer is expected to have a useful life of five years with a scrap value of zero
at the end of the five years and revenues of R2, 200 per year City Removals uses the
straight line depreciation method and is subject to a 30% tax rate.

Calculate the net operating cash flow for year 1 to 5 and choose the correct option.

1. R1, 060
2. R1,540
3 R1, 800
4. R2, 080

9 DK Stationery Ltd just purchased a photocopier which has a cost of R20, 000, a useful life of
four years and an after-tax operating cash flow of R4, 000 including depreciation of R600.
The cost of capital to the company is 9%. The internal rate of return (IRR) on a project with a
similar cost 1s 12%

Calculate the net present value {NPV) of the photocopier and choose the correct option

-R7, 851
-R7, 041
-R6, 028
-R5, 097

i

10.Risk in capital budgeting cash flows can be adjusted for by using the ..

1 risk-adjusted discount rate
2. required rate of return

3. certainty equivalents

4. the risk premum

[TURNOVER]
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11.Divine Consulting's expected earnings per share (EPS) are R6.60, which is an increase from
R5.99 in the past year. The company’s share price Is currently at R50.00 and flotation costs
are estimated at R10.00.
Calculate the cost of existing ordinary shares if the company pays all earnings as dividends
and choose the correct option.

1. 22.16%
2, 23.38%
3. 24.32%
4. 24.72%

12.T & J Communications’ ordinary share is currently trading at R30 00 per share. The share is
expected to pay a dividend of R3.00 per share at the end of the year (D1), and the dividend I1s
expected to grow at a constant rate of 5%.

Calculate the cost of an ordinary share and choose the correct option.

1. 9.57%
2.10.01%
3. 15.00%
4, 15.50%

13.Duncan Industries’ current EPS is R4.40 and 1t 1s expected to increase to R4.86 next year.,
The company pays 45% of its earmings as dividends and its ordinary shares sell at R42.00
per share
Calculate the company’s cost of new shares If flotation costs are estimated at 10% and
choose the correct option

1. 577%
2.10.55%
3 11.30%
4. 12.58%

14.The cost of equity I1s also known as ...
1. The rate of return required by ordinary shareholders
2 The cost of ordinary shareholders’ dividends

3. The cost of retained earnings
4. The expected market return

[TURNOVER]
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Tinangwe Ltd has a target capital structure of 30% debt and 70% equity. The yield to
matunty on the company’'s outstanding bond I1s 8 00% and the company’s tax rate 1s 30%.
Tinangwe’s financial manager calculated the company weighted average cost of capital
(WACC) as 7.8%.

What is the company’s cost of equity capital?

1. 5.40%
2. 7.71%
3. 7.80%
4, 8.00%

Innovative Equities (Pty) Ltd raises capital by issuing 10,000 corporate bonds with a par
value of R1000.00 The coupon rate of this bond 1s 8 00% per annum, its matunty date 1s

15 years and the yield to maturity on new long-term debt 1s 8.48%

Calculate the after tax cost of long term debt if the tax rate 1s 29% and choose the correct
option

1 568%
2. 6.02%
3. 8.00%
4. 878%

An Art Gallery has a capital structure with the following weights: debt; 25%, ordinary shares;
60%, and preference shares; 15%. The cost of debt is 7.64%, ordinary shares cost 12.00%
and preference shares cost 10.53%.

Calculate the WACC and choose the correct option

1. 8.78%
2. 9.00%
3. 9.30%
4. 10.69%

[TURNOVER]
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Botho Investments has a 7% coupon rate bond that matures 1n 20 years and 1s selling at
R985 56. The par value of the bond is R1, 000 00 and interest I1s paid annually The
company I1s subject to 30% tax rate.

What I1s the company’s component cost of debt for calculating WACC?

1 490%
2. 5.00%
3 7.00%
4 714%

A company with an optimal capital structure of 25% debt and 75% equity has 1ssued a 6 50%
bond In order to raise additional capital The ordinary shareholder’s required rate of return on
equity 1s 7.00% The company’s expected dividend is R3 10 and it has an ordinary share
price of R46.40 per share.

Calculate the WACC of the company and choose the correct option

1. 6.88%
2. 707%
3 1307%
4 13.67%

Use the information provided below to answer question 20 and 21.
Danie & Ackerman Ltd has retained earnings of R 1, 250, 000 which are insufficient to fund

its capital projects The company seeks to raise additional funding through a R500, 000 bank
loan. Capital structure weights for sources of funding are as follows:

Source of capital . - ‘Weight
Long-term debt 35%
Preference share 15%
Ordinary share 50%

[TURNOVER]
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20. Calculate the break point of the retained earnings and choose the correct option

21

22.

1. R1, 250, 000
2. R1, 923, 077
3. R1, 928, 025
4 R2, 500, 000

Calculate the break point of long-term debt and choose the correct option.

1 Rf1, 000, 000
2 R1, 428, 571
3 R1,923, 077

4. R1, 932, 077
Use the information provided below to answer question 22.

A company with an optimal capital structure of 33% long-term debt, 8% cost of long-term
debt and 14% cost of equity is evaluating the following capital projects:

Investment opportunity Internal rate of return Initial investment
(Capital project)

A 13 60% R850, 000

B 8.99% R720, 000

C 9.38% R560, 000

D 9.00% R800, 000

Which project should a company choose?

1 Project A
2 Project C
3. Project B
4 Project D

[TURNOVER]
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23. A company with R120, 000 fixed operating costs and vanable operating costs of R102 per

24.

25.

unit has just sold 2, 000 units at a sales pnce of R195 per unit
Determine the degree of financial leverage {DOL) of the company at the current sales level
and choose the correct option.

165
282
2.95
2.98

LN~

Ginger Cola has earnings before interest and tax (EBIT) of R450, 000, an interest expense of
R40, 000 and preference dividends of R6, 000 The company is subject to a 29% tax rate

Calculate the degree of financial leverage (DFL) at the current EBIT level and choose the
correct option.

1111
2.1.12
3. 1.21
4.1.32

Use the information provided below to answer question 25 to 27.

A company has sales revenue of R125, 000, vaniable costs of R90, 000 and fixed costs of
R15, 000 The company has WACC of 17.00%, interest expense of R5, 000 and it 1s subject
to a 30% tax rate. The company has issued 9, 000 shares in order to raise new equity
capital.

Calculate the expected earnings per share of the company and choose the correct option

1. R1.17
2. R1.19
3. R127
4 R150

[TURNOVER]
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26. Calculate the net operating profit after tax (NOPAT) of the company and choose the correct

27.

28.

29.

option.

1 R 6,000
2.R 7,350
3. R14, 000
4. R15, 000

Calculate the value of the company and choose the correct option.

1. R61, 765
2. R62, 352
3. R74, 862
4. R82, 352

Use the information provided below to answer question 28 and 29.

Omar Inc. has a total value of R380, 000 and needs to raise additional funds of R20, 000 at
15% interest rate. The company’s optimal capital structure is at 40% debt and 60% equity.

The company shares are currently trading at R30 per share.

Calculate the number of shares under the current company value of R380, 000 and choose

the correct option.

1. 5, 067 shares
2. 7, 600 shares
3. 7, 800 shares
4 8, 000 shares

Calculate the number of shares after raising additional capital of R20, 000 and choose the

correct option.

5, 333 shares
6, 667 shares
7, 600 shares
8

1.
2.
3.
4. 8, 000 shares

[TURNOVER]
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30 A capital lease 1s also known as .

31

1. an operating lease
2. a financial lease

3 aleveraged lease
4. a direct lease

Use the information provided below to answer question 31.
A company is evaluating a lease compared to a purchase option on an operating asset The

company requires 9% on all investments The following information pertaining to the asset 1s
available:

Option Purchasing Leasing ]
(After-tax cash outflows ‘000) (After-tax cash outflows ‘000)

Year 1 R275 R1, 200

Year 2 R145 R1, 200

Year 3 R130 R1, 200

Year 4 R455 R1, 200

Year 5 R5, 750

NPV R3, 533 R3, 888

Which option should the company choose?

1. Purchasing option for the first four years and swap to leasing from year 5
2 Leasing option for the first four years and swap to purchasing from year 5
3. Purchasing option

4 | ease option

32.LJ & D Ltd. 1s considering leasing equipment costing R10, 000 with a useful Iife of ten years

and zero residual value The company can borrow the required R10, 000 with a ten-year-
10% loan
Calculate the monthly instalments on the loan and choose the correct option.

1 R1, 000
2 R1,139
3. R1, 627
4 R1, 700

[TURNOVER]
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33.Modighani and Miller argue that when the company has no acceptable nvestment
opportunities, 1t should

1. distribute the unneeded funds to the ordinary shareholders
2. keep the unneeded funds as retained eamings

3. raise Its cost of capital

4. lower its cost of capital

34 Which of the following 1s one of the factors affecting dividend policy?

1. Irrelevance theory of dividends
2. Relevance theory of dividends
3 Residual theory of dividends
4. Flotation costs

Use the information provided below to answer question 35.

Zorro Inc ’s optimal capital structure calls for 40% debt and 60% equity. The corporation has a
capital budget of R1, 253, 890 for the following year and follows a residual theory of dividends.
The chief financial officer (CFO) announced a zero dividend payout to the ordinary
shareholders in view of this capital budget.

35. How much earnings for distnbution to ordinary shareholders does Zorro Inc expect at the end
of the year? Choose the most correct option

1. Greater than R600, 000
2. Less than or equal to R600, 000
3. Greater than R752, 334
4. Less than or equal to R752, 334

36. A company can influence the cost of capital through its policy on ...

1. interest payments
2. depreciation

3 dividends

4. taxes

[TURNOVER]
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Use the information provided below to answer question 37 and 38.

Mr. Melela owns 100 shares of Izigi Entertainment The shares were purchased two years ago
at R20 per share The price of the share is currently trading at R35 per share and the

company Is subject to a 30% tax rate The company CFO has just announced a share split of
2 for 1.

37.Calcutate the value of Mr. Melela’s shares before the split and choose the correct option

1 R1,225
2. R1, 750
3 R2, 450
4. R3, 500

38.What will the effect be on the share price after the spiit?

1. Remain at the current price of R35 per share
2. Decrease from the current R35 per share

3 Increase from the current R35 per share

4. Decrease the initial pnce R20 per share

39. A company Is defending a hostile takeover by its competitor by using the poison pill strategy
What s the aim of this strategy?

1. To allow the target company’s shareholders to receive special voting nghts which makes
the company less desirable to the hostile acquirer

2. To repurchase the target company shares in the open market in an effort to push the price
above that being offered by the acquirer

3. To try to convince the target company’s shareholders that the price being offered is too
low

4. To prompt the hostile acquirer and a new acquirer to compete for the target company

40.What 1s a conglomerate merger?

1. A merger achieved by acquinng a company that 1s in the same industry
2. A merger achieved by acquinng a company in unrelated business

3. A merger achieved by acquiring a two-tier company

4. A merger achieved by acquinng a customer

[40]
[TURNOVER]
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SECTION B [30 MARKS]
ANSWER THIS QUESTION IN THE SPACE PROVIDED.

QUESTION 1 _ (13 marks)

BJ and Brothers Cc has an optimal capital structure of 30% debt and 70% equity 1s evaluating
three mutually exclusive projects for expansion purposes. The total value of the company 1s
R500, 000. The company's audited comprehensive income statement reported a net income of
R 80, 000 for the year ending December 2011 The Chief Financial Officer (CFO) confirmed that
the company is under capital rationing with funds available for capital projects to be R51; 000 for
the year 2012.

The company depreciates capital assets at 12% and 1s subject to a 29% tax rate The company’s
cost of equity is 16.36% and bank loans have an after-tax cost 8.50% per annum.
The following information is available on the projects:

Cash flows Project A Project B Project C
Initial investment (R52, 000) (R78, 000) (R50, 000)
Year 1 R28, 000 R17, 000 R22, 000
Year 2 R38, 000 R25, 000 R22, 000
Year 3 R23, 000 R22, 000
Year 4 R43, 000

IRR 16.55% 15,45% _  15.28%

As a junior financial analyst of the company, the company CFO forwarded the above mformation
to you to perform an analysis

[TURNOVER]



15

FIN3701
OCTOBER/NOVEMBER 2012
1.1 In which project do you recommend that the company invest its funds and why? (10)

[TURNOVER]
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1 2 If the company uses the residual theory of dividends, calculate the retention rate of dividends

(3)

[TURNOVER]
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QUESTION 2 (17 marks)

Comfort Floors (Pty) Ltd has fixed operating costs of R72, 000; a sales price of R9 75 and
variable costs of R6.75 per unit. The company has sold 25,000 carpets and it expects the sales
to increase to 30,000 carpets, because of introducing fixed costs to fund its operations The
company issued 9, 000 ordinary shares and took out a R 10, 000 bond at 12% nterest per
annum In order to raise funds The company 1s subject to 30% tax rate

2.1 Fill in the missing amounts on the schedule below to demonstrate the effect of introducing

fixed costs (12)
B e O gBEQI0 60,000
Sales R. R.. ...
Less. variable costs R... . R ...
Less: fixed costs R72, 000 R72, 000
EBIT R R.. oo
Less' interest R R....
Net profits before tax R1, 800 R16, 800
Less: taxes R. R...
Net profits after tax R R .........
Less: preferred dividends R . R..... .
Earnings available to ordinary shareholders R ... Reeeees ..
Earnings per share (EPS) R....... R.. ..

[TURNOVER]
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2 2 How many carpets will have to be sold in order for the company to break-even? (2)

[TURNOVER]
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2 3 Calculate the degree of total leverage (DTL) for the company (2)

2.4 Explain your findings from 2.3 (1)

[30}
TOTAL [70]

[TURNOVER]
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ROUGH WORK
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Interest tables
Table 1: Future-value interest factors for R1 compounded at k% for n periods.
FVIFu=(1+k )
Panod| 3% | 2% | a% | a% [ o% | 6% § 7% | s% | ow | tow | vi% o 12w | 1w § vax | 5% | 16% | 20% | 25% | 30% | 35% |
1 1010 11020 J1030 |1040 [1050 1060 11070 ]1080 J1000 14100 11110 }1120 1130 1140 1150 )1160 1200 1250 |1 300 laiﬂ__
2 1020 11040 11061 f1082 11403 11124 11145 1166 11188 11210 1232 11254 11277 14300 J1323 1346 |1440 11563 J1690 |1
3 100 [1081 [1003 [1125 |1458 l1101 Ji2o5 J1260 l1205 |1a31 f1368 Jiaos J1443 J1482 Pis21 l1se1 Ji7ee 1953 o197 |oaso |
4 1041 11082 11126 11170 11216 1262|1311 11360 11412 |1464 1518 J1574 11630 11689 {1749 (1811 12074 2 441 2&5_;3_3_;_2_
5 1051 11104 §1159 [1217 J1276 [1338 11403 11469 1539 |1611 J1685 [1762 ]1842 11925 2071 2100 {2488 13052 13713 j4404
£ 1062 111268 11104 11265 11340 1419 31501 31 587 11677 11772 11870 11974 )2.082 32195 2313 12436 |2.986 3815 |4 827 16053 |
7 11072 1149 11230 11316 11407 ]4.504 11808 §1714 [1828 11949 12076 ]2211 2353 J2502 |2660 |2826 |3583 14768 16275 18172
8 1083 11172 |1267 11369 (1477 11504 11718 J1851 11993 |2144 2306 2476 12658 2653 §3063 |3.97 43&2“_59_&) 8157 11103
9 1004 11195 11305 11423 1551 1689 11838 f1999 12172 12358 2558 J2773 13004 |3.252 $3518 13803 15160 |745t 11060 1489 |
10 11105 11219 |1344 11480 |1629 11761 |1967 |2.159 12367 [2604 [2839 J31068 3395 13707 4046 Y4411 16192 9313 1379 j2 1
11 11116 J1243 11384 ]1639 |1710 1898 12105 12332 |2580 412853 13152 3479 3836 14226 |4652 5117 17430 [1164 1792 §2714
1211127 lizen [1426 |1603 |1706 |2012 {2262 |2518 |2813 |3138 |3498 13606 |4995 Pass |saso |s938 lao1s 11455 |2330 [3g64
13 14138 11204 ]1469 |1665 |1886 12133 {2410 2720 l3066 3452 |3883 4383 |4898 F5402 le153 |6886 1070 (1819 3020 4047
14 11149 11319 J1513 11732 11980 2261|2579 2937 13342 3797 14310 14867 65535 16.261 7076 |)7988 |1284 12274 13937 16678
15 11161 11348 LE_E& 1801 {2079 (2307 (2758 1372 3642 14177 A785 15474 15264 7138 18137 9266 11541 [2842 15319 }B016
16 J1173 11373 11605 |1873 2183 |2540 ]2952 3426 13970 14595 |5311 16130 |7067 J8137 19358 11075 11849 3553 16654 {1217
17_J1184 |1400 1653 |1948 |oo0p |2693 |3150 |3700 |43e8 {sos4 |5ess |eses |7.086 lozre |1o7e |12.47 2219 la441 la6s0 Y1643
18 11186 1428 (1702 12026 }2407 |2854 ]3380 3996 14717 5560 6544 |7690 9024 11058 1238 |1446 12662 15561 11125 12218 |
19 11208 11457 {1754 2107 2527____@ 3617 {4316 5142 |6116 7263 |8613 11020 §1206 |1423 J1678 13195 6939 |1462 29£J
20 11220 11486 1806 |21 265_@___!}_.207 3870 14661 5604 [6727 |8062 |9646 [1152 19374 116.37 1946 13834 |8674 11900 14043
21 11232 |1516 1860 ]22879 27'8_2 3400 [4141 }5034 (6109 [7400 8949 [1080 {1302 |i567 (4882 2257 |4601 J1084 |2471 |5458
| 22 l124s 1548 |1916 [2370 loeos |aeos |a4s0 |s4a7 6659 18140 Jo934 {1210 1471 |1786 |o164 {2610 5521 |1355 [3212 J7368
23 |1257 11577 11974 12465 |3072 13820 J4741 |5.871 7.258 |8954 1103 1355 11663 J2036 |2480 13038 18625 |1694 14175 9947
24 11210 11608 {2033 12563 (3225 j4043 |5072 6341 7941 9850 1224 15ﬁ 1879 12321 12863 |3524 17050 12118 5428 1343 |
% {1282 bieat {2004 |oeec [3385 |a2ep |s4o7 |ease leees |1083 1350 |4700 |2123 |2646 |apop l4087 Josdn [o647 7066 [1813 |
} 50 11.348 1811 2427 13243 14322 15743 §7612 {1006 (1327 11745 |2983 12606 [3912 [5095 6621 18585 |2374 8078 |2620 |8129
| 35 4417 ]2000 J26814 13946 5516 7686 F1068 §1479 12041 [291Q J3857 5280 7207 19810 11332 11803 15907 |2465 |5728 |36449
| 40 J14e0 |ocos |aze2 [4m01 700 J1029 J1ao7 2172 |3141 [as26 6500 |gaos liaze |seso fo67o lazaz 1470 7508 [a6t19 | -
| 45 11565 12438 3782 15841 18985 1376 12100 13192 14833 17289 1195 11640 2446|3637 5388 (7954 |3657 (20950 * >
50 1645 [2602 14384 |7107 [1147 |1842 |2046 |4690 |7436 1174 |1846 |2890 |4507 |7002 |1084 |[1i671 [9100 |70065 * *
* EVYE » 99999
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Table 2. Future-value interest factors for a R1 annuity compounded at k% for n penods

FVIFAw= Y (1+k J”

t=1

| Penod | 1% 2% 3% 4% 5% 5% 7% 8% 9% | 10% | 11% | 12% | 13% 1 14% | 15% § 16% [ 20% | 26% | 30% ] 35%

—

1000 J1000 [1000 3000 14000 11000 J1000 11000 11000 11000 |1000 j1000 |1000 F:000 J1000 F1000 17000 11000 [1000 {1000

2010|2020 [2030 |2040 J2.050 |2.060 |2070 2080 |2090 2100 J2110 2120 J2130 {2140 £2150 J2.160 |2200 f2250 (2300 |2 350
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e
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7214|7434 |7662 (7898 18142 |8304 |8654 18.923 19200 |9487 [9783 |10089 110405 110730 114067 ¢11414 112916 |15 073 |17 683 {20492

8265 [8583 feg92 (9214 |o549 |oBo7 |1026 |1064 |1103 {1144 (1186 [1230 |1276 113.23 P1373 |14.24 |1650 (1984 2385 |2666

©w (o |~ & Jon | o (o
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-
i=J
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—y
jury
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-]

1268 11341 J1419 J1503 J1592 11687 17689 11898 12014 |2138 |2271 42413 J2585 |27.27 12000 J9085 13958 5421 7433 }1018

—
<
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Table 3

m

FIN3701

OCTOBER/NOVEMBER 2012

Present-value interest factors for R1 discounted at k% for n penods
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* PVIF = 000 when rounded off to three decimal place
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Table 4

FIN3701

OCTOBER/NOVEMBER 2012

Present-value interest factors for a R1 annuity discounted at k% for n penods
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